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PEI CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2016

MATHEMATICS
PAPER 1
(BOOKLET A)

Additional materials: Optical Answer Sheet (OAS)  Total Time For Booklets A & B : 50 min

Name : ( )

Class anary ( )

Date : 3 Augusl 201 6

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.

SHADE YOUR ANSWERS INTHE OPTICAL ANSWER SHEET (OAS) PROVIDED o

YOU ARE NOT ALLOWED TO USE A CALCULATOR



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 cary 2 marks each.
For each question, four oplions are given. One of them is the cosrect answer.
Make your choice (1, 2, 3 or 4). ' Skade the comect oval (1, 2, 3 or 4) on the

Optical Answer Sheel. (20 marks)

1. What is the value of the digit 6 in 756 0427

M 6

2 60

(3) 600

(4 6000 —

2. What is the value of 500 + 1000?

(1) 02
2 2
3) 05
(4 005

3. The figure below is made up of unit squares.

What fraction of the figure is shaded?

(1)

®|w

(2)

TR}

- (3)

T ofw

@ =
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4. Which of the following fractions is closest to —;—?

M 3
@ 3
@ 3
@ 3 _

5. 4 ones, 8 tenths and 6 thousandths is

(1) 0.486
(2) 4.086
(3) 4.806
(4) 486 .

6. Round off 3.465 to 2 decimal places.

‘(1) 350

(2) 3.47
(3) -3.46
(4) 3.40
7. 6090 mis the same as

(1) 6km9m
(2) 6km90m
(3y. 60km9m -

(4) 60km90m
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8. Which of the following figures has a pair of parallel lines?

(M . (2)

(3) 4

9. There are 40 pupils in a class. 30% of them are boys. How many girls are there in

the class?
(1) 10
2 12
(3) 18
(4) 28

- 10. The figure below shows a cube.

Which of the following is not a net of the cube? .

(1) ' %)

L) _ 7 . O]
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11. In the figure below, EFGH is a rectangle. -

Find £FHJ.

(1)
(2)
(3
(4)

18°

22°

27°

40°

E

40°

72°

12.  Jamie used four letters A, B, C and D to form a pattem. The first 20 letters are

shown below.
ABCDCBABCDCBABCDCBAB.... ... ?
1= 20% 292%

Which letter is in the 292® position?

0

@
(3)
4

O 0 @ »
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13.  The table below shows the scores of Mike and Norman for three quizzes.

* Mike Norman
Quiz 1 80 70
Quiz 2 — 80 90
Quiz 3 ? 80

. Norman's average score for the three quizzes was 5 more than Mike’s average
score for the three quizzes. What was Mike’s score for Quiz 3?

(1) 65
2) 75
(3) 85
4 95

14. Jill is 4y years old. Mr Lam is now 5 times as old as Ji#l. How many years old will
Mr Lam be whenJill-is 30 years old?

(1) 30 + 16y -
(2) 30-16y
(3) 30+20y

ey 30¥F9y

15. Mr Lim bought an equal number of red apples and green apples. He put all the
" apples in 2 empty boxes, Box A and BoxB. ‘
The number of red apples in Box A to the number of red apples in Box B Was in the
ratio 3 : 1. The ratio of the number of green apples in Box A to the number of
green appies in Box B was 1 : 5. The total number of apples in Box A was the
same as that in Box B.

What was the ratio of the number of red apples to the number of green apples in

Box B?

(1) 1:5 °
= (.2) ,,_2:;__5 .
(3) 3:10
(4) 6:1
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PEI CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2016

MATHEMATICS
PAPER 1
(BOOKLET B)

Total Time For Booklets A & B : 50 min

Class : Primary 6

Date ": 3 August 2016

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

WRITE YOUR ANSWERS IN THIS BOOKLET .- -
YOU ARE NOT ALLOWED TO USE A CALCULATOR.



tions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.

questions which require units, give your answers in the units stated. {10 marks)
1}5. Use all the digits 3, 5, 4, and 8 to form the largest four-digit even number.
Answer: _
1&. Find the value of 7 x2 - (8 + 4) + 3.
Answer:
1&. Find the value of 3. é
8 6
Answer: :
, 1
1$. 1 am an odd number greater than 3. | am a multiple of 3 and a factor of 36.
What am 1?
Answer:
SCORE
M)\IPSIPLIZMG Page 10f6 {Go on 10 the next page)

Do not write
n this space




20. Find the value of 0.29 x 30. Do ot weite
in this space
[ ]

21, Measure and write down the size of ZEFG.

22.  The figure below is made up of squares. Shade two more squares so that the
figure has exactly a line of symmelry. .
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3.  The pattemn in the box below shows part of a tesseflation. Extend the tesseliation
by drawing two more unit shapes in the space provided in the box.
[ ] [ ] L ] [ [ ] [ J * [
L ] L J [ J
L L 2 L] L ] [ [ ] L ] ® L ] *
2k, 3b

MA

Fndthevalueof5+-—2— when b = 6.

Answer: .+«

o

Ali wanted to watch a movie which started at 16 30. He took 30 minutes to travel
from his house to the cinema. Hearrwqdatmememawmmtesbeforethe
movie started. What time did Ali leave his house? :

Give your answer using the 24-hour clock.

ADS‘WBI"

SCORE
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Qu&snonszstosomnyZma:kseadv Show your working clearly in the space below

wquuesbonandwnteymuanm'snmespacesprowded For questions which require
umts giveyouranswefsmtheunnsshwd (wmatks)
. ‘
26. -
P

Refer to the square grid above andfill in the blanks with P, Q; R, Sor T.

(a) Point is west of point

{b) Point _is north-east of point

2y. AB and BC form two sides of a trapezium ABCD. AD is paraliel to BC.
AD is three times the length of BC. Complete the drawing of the trapezium ABCD.

SCORE

Do not write
n this space
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28.  Find the total area of the shaded parts of the square shown below.

Answer:

¥9.  The figure shows a rectangular glass box partly filled with unit cubes. How many
more cubes have to be put in the box so that it is filled completely?

Answer..

AIPG/PLS 2016
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Do not write
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30. The price of one bun from a shop is 80¢. When a customer buys 7 buns, he can | o notwrite
buy one more at half the price. What is the greatest number of buns thata—- in this space
customer can buy with $100? . 4

1
End of Paper —
~ Set by : Mrs Agnes.Chua, Mrs Jaslene Tan, Mr Staniey Soh and Mr Teng Beng Chye SCORE
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PEI CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2016

MATHEMATICS
PAPER 2
Time: 1 h 40 min
- Paper 1

(Bookiet A} 20
Cl_ass anary 6 ¢ 2 ; 29
Date : 3 August 2016 -' ‘ | Paper2 | )
Parent’s Signalggfe: _ g , o TOTAL 100 .

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALL QUESTIONS.
SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

| WRITE YOUR ANSWERS IN THIS BOOKLET. ' C e
YOU ARE ALLOWED TO USE A CALCULATOR.



Questions 1 to 5 carry 2 marks each. Shovﬁyourwo%kingc!eadyandwﬁteyouranswers Do not write
in the spaces provided. Forquesbonswtudtrequwewms give your answers in the units §  this space
stated. . (10 marks) »

thewaaetcostﬂu Whatpementageofh&sawuswasusedtobuyheﬁshrt”

Answer. . %

2. The base area of a rectangular tank is 36 m? and its capacity is 252 m3.
It is half-filed with water. r-“m the height of the water level.

Answer: m

-SCORE
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3. Mr Ahmad placed 12 potted plants along a straight pathway with the first pot at Do not wiite
one end and the last pot.at the.other end.. ‘The potted plants were placed at in this space
equal distance of 2.5 m apart. Whatwasﬂw!engﬂmofmepamway’ .

Answer: ) m

4. Tedpouredouﬂ%tofwauﬂmnatank‘andputbackanomer—g-L After that, -
there was 6 { of water in the tank. How much water was there in the tank at first?

Answer: R¢

' SCORE
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5. Raj,ﬁﬂedatankwdhwaterqsmghvotaps He turned on Tap A first and after 4

»B. Boﬂulapsweretumedoﬁatthesamehme

30—,
-3 [ ]
L
<X ]
P N ]
1
-de 1 4
2001 :
Volume T H
of water T o
(litres) 1 '
3
1001 !
T '
e e - . - 13
+ ! '
L 1 ; 1. J 1 i i 1
] i i 1 i k)
0 2 4 6 8 10 12 14
Time (min)

in one minute, how many fitres of water flowed from Tap B?

Answer:

AR 1ORIDN £INI8 B page 3 of 16

SCORE -

Do no
in this




I—quuesnonssto 18,stwyowworkmgdeaﬂyandumteyouranswersmmespaces
,The,mmbéfofmamsavaaab!eusshownmbfadtets[ }at the end of each
qumonorpart-quesnon (50 marks)

6. Eve;yday Ali saves $2 and Siti saves $5. if-they start saving on the same day,
how many days will it iake Sitl.to'save $210 more than AR? :

Answer: 13}

SCORE

1P6/PL/2016 Page40f16 ) {Go on to the next page)

Do not write
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A baker baked some cookies on Monday. He sold ; of them on Tuesday and —% :‘:,:‘s;”a“é
of the rest on Wednesday. . .

1

(a) What fraction of the cookies were left?

(b) 1ﬂwhakerbakedamﬂm732wokmon?hmsdaya:ﬂﬁmhehadhme
as many cookies as he had on Monday. How many cookies did he bake
on Monday?

LT . Answer: {a) . L o m
®) . @
T : ' SCORE

IPRIPE 701K o Pane 50f 16 {Go on to the next page)



8. Asduooleondudeddled(sonisl’mnary1pupas eyesight from Monday to . " Do not write

,'v'y {Each of them had their eyes checked on one of the four days. in this space
There were 200 Primary 1 pupils altogether. The pie chart represents the number
of pupils that were checked on each day.

(a) How many Primary 1 pupils had their eyes checked on Wednesday?

(b) 40% of the Primary 1 pupils had their eyes checked on Monday.
How many Primary 1 pupils had their eyes checked on Thursday?

Answer: (a) 2
(b) 2

SCORE
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9.

AaMBwﬁMmMm

Tyt

e

'l'hegraphbelowshowsmemassofawpwhendsfferemcombmabonsofob;ects

What is the mass of the cup when it is empty? -

A

B3

AIDQR I fmMNee
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SCORE
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Do not
n this «




10.  Mr Peh mixed 3.75 kg of white rice with 7.5 kg of brgwn rice. He packed the

mixed rice into as many packets of 40 g each as possible.
{a) = How many such packets did he get?
{b)  Whatwas the mass of the remaining mixed rice?

" Answer: (a) SB
(b) 1]
SCORE
MA/P6/PLI2016 Page 8 of 16 ' (Go on to the next page)

Do not write
in this space




ﬁ. There are 1~Oigtenﬁwsquhakresandasmauredangleinrectang!eABCD.
(a) - Whatis the perimeter of the shaded part?
(b)  What'is the area of the shaded part?

A
A
45 cm
Trom
v J
De »C
52cm
1)
Answer: (a) _____ @
(b) 2
SCORE
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12.

In the figure below, ADF i$ an equilateral triangle. BCF and AGE are straight

Find the value of Ly + ZZ

Answer:

4

SCORE

Do not write
in s space




13. Inagame, Rene scored 10 times as many points as Shaun. Shaun scored 10
times as many points as Tom. Shaun scored 65.16 pomtsmorethan‘l’om

(a) How many more points did Rene score than Shaun?

(b)__ Find the total points scored by Rene, Shaun and Tom.

Do not wiits
in this space

- Answer. (a) _ 12) -
(b) 2]
'SCORE
A/P6/PL/I2016 Page 11 of 16 (Go on to the next page)



HowlongdidRoytake to complete the track?
(b) Whatwas Sld's jogging speed in km/h?
Answer: (a).
(b) 2]
SCORE
WA/ P6/PL 12016 Page 120f 16

{Go on to the next page)

Do not write
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15. Atawkeshop 2Iargemdﬁnswemsoldat$9and75nmltm:ﬁnsat$12 Do not write
Jknboughtsomehrgenuﬁftsandkaumwgbwgtﬂsomesndmﬂﬁnsmme in this space
shop. TheyspemmesameasmmtofmoneyﬁwKaamgbwghtwsmore
muffins than Jim. I-lownmdamoneydid.linspend”

Answer: {4)

SCORE

IA7P6/PL /2016 Page 13 of 16 (Go on to the next page)



16. MrUhadabtalof1051 goats, ducks and chickens on his farm at first. Therabo
ofﬂvenumbaofdﬂdtenstoﬂwwuﬂ:erofdud(swas5 3. Aﬂerse&ng -of

the dicks and = 2 2 of the goas, hehad45‘lanma!s¥eﬁ.

;Howmanygoatsddhe_ha_vaatﬁtst?

Answer: 4]

Do not write
in this space

SCORE
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17. '}meﬁgme?bebwasmademofasquamandmidenﬁ&dbiades s space

i St dibed

‘Ead\mdensfotmedbytwodiﬁmm :
@ AMlatismepem:ebrofMeﬁgue? -

. Answer: (a) [ 12

(v) 2

SCORE
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Jpa. Each parti iparn paid $25 to attend a workshop. On Saturday, the number of

ants was 130 fewer than the number of male p

s meased‘byzo% ThemwereS?ttpaﬁdbhntsonSmday.
M-mabwmwmmeymldbya!mepamdpamsonbomaays

End of Paper
by : Mrs Agnes Chua, Mrs Jaslene Tan, Mr Stantey Soh and Mr Teng Beng Chye

Do not-wri
n this spa




Q13

Q14

Q17

Qis

Q19

10

9/20

8.7

77
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bele

1% N

PNy
k

o

N
TN

Q24. 14

Q25. 1550

Q26(a) Point Q is west of point T.

{(b) |Point R is north-east of pointS.

Q27.

Q28. 44cm?



ter

Paper 2 {(Workings Including)
Ql. Tlshit ™ > X 100 = 20
144436

Answer: 20%
Q2. Height— 252 =36=7

Heightof water ——» 7 -2 =35
Answer: 3.50m ' TR
Q3. Sp

ces —» 12—-1=11
thh of pathway —~=» 11x2.5=27.5
b o

Answer: 27.5m

Q4. Atfist > 6-2+12=7

Z
5
=735

20

Answer: 7.35L




Q5. .
1 min A——-VBO +4= 15

" 6minA——»15x6=90

Big diff ——> 210
Small diff —» 5—2=3
take —» 210+3=70

' Answer: 70 days

Q7.

a)
b)

)

1
Tuesday

!
Wednesday

1 4 2
left—»— X — = —

2 7 7
12 units—s 732

Monday—» 732 -~ 12x 7 =427

2
Answer: (a) = (b) 427 cookies

Qs.
(a) Wednesday'_'% x200=40

(b) % Thursday——”» 100—40—-25-20=15
. “Thursday — > 2y 200=30 - -

100

Answer: (a) 40 Primary pupils {b) 30 Primary pupils




Q8. B—>» 720-480=240

— $3.75+705=11.25

- 11:25kg = 11250g
_Paékets—> 11250 = 40 = 231-

_281R10
Answer: (a) 281 packets (b) 10g

Q1y

Length of 4 squares —»45—-7 =38
‘Length of square -—»38 +4 =95
52-38=14

52-95=425

Perimeter of shaded - .»38x2+425+14+95x3 =161

Total area —>45x 52 =2340

Area of square —->9.5x9.5=:90 25

Area of rectangle -~ *>52 x7 =364 - :

Area of shaded —* 2340 —90.25 x 10 - 364 = 1073.50

Answer: (a) 161cm (b) 1073.5cm?
Q12.
LCGA 5180—-107 =73

LGAF + LGFA = 180 - 107 = 73
ly+lzF 120-73 =47




10U {10V |10U

10U

10U

10U

10U

|

10U

9 parts —> 65.16
1part—>65.16 +9=7.24

90 parts —*>7.24x90 =651.6

Q13(b) ‘
Total > 7.24 x 111 = 803.64
(111 parts)

Answer: (a) 651.6 points (b) 803.64 points

Q14(a)

Roy (10 mins)-—-- 1.6

Roy (1 min) ===-=-1.6 +- 10 =0.16

Roy take —»8 <+ 0.16 = 50

Q14(b)

Sid take —* 50—-10=40

Sid(1mijn) —> 8 + 40 = 0.2
Sid(1h)—> 0.2 x 60 =12

Answer: (a) 50mins {b) 12km/h




_ Q15

Groups -—» 156 -2 =78

(big)

14 large —> 9X7=63

14 small—> 12x2=24

Diff |—> 63 —24=39

Kaiming buy —» 702 <39 =18
Jimspend - » 18x14/7 x12=432

er: 5432

Q16.

Chicken : Duck
Before 5 T

After 5 . |

2 of duck +§5 of goat + 355 of childrenl""'""b 457x3=1371

10 units — 1371 -1051 =320
1 unit 320 + 10 =32

Chicken + duck — 32 x 8 =256
Goat at first — 1057- 256 =795

r: 795 goats




Qi17(a) .
Perimeter of 1 blade — ;1- x3.14x12+ %x 3.14=39.25
‘Perimeter of figure === 39.25 x 4 = 157

Q17(b)
Area of triangle — zi x12x5=30

Total [~ x3.14 6.5 X 6.5 + 30 = 96.3325
Area of semii cirele — }l-x 3.14x6x6=56.52
Blade|-— 96.3325 —56.52 = 39.8

Answer: (a) 157m, (b) 39.8 m*

Q18

100 units | 130 M |
i Sat
100 units F !

Sun —1 M: 80 units + 104, F: 120 units. Total: 574
130 x20 / 100 =26, 130 -26 = 104

200 unjts ~— 574-104 =470 - -

400 unjts — 470X 3 = 940

Participants --——-940 + 1230 + 104 = 1174
Money|--== 1174 x 25 = 29350

Answer: $29 350

IAD



	Pei Chun Public School SA2

